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from sklearn import preprocessing

import numpy as np

np .random.seed(0)

X_train = np.random.randint(low=1, high=10, size=(3,5))

X_test = np.random.randint(low=1, high=10, size=(3,5))

print('X_train:\n', X_train)

print('X_test:\n', X_test)

X_train:
[[614428]
[4 635 8]
[79927]]

X_test:

[[8 89 2 6]



[95414]
[61349]]

StandardScaler

®

RIE Eq. 1 #ITFRELL:

scaler = preprocessing.StandardScaler().fit(X_train)

X_train_Satndard = scaler.transform(X_train)

X_test_Satndard = scaler.transform(X_test)

print('X_train_Satndard:\n', X_train_Satndard)

print('X_test_Satndard:\n', X_test_Satndard)

X_train_Satndard:
[[ 0.26726124 -1.31319831 -0.50800051 ©.26726124 ©.70710678]
[-1.33630621 0.20203051 -0.88900089 1.06904497 0.70710678]
[ 1.06904497 1.1111678 1.3970014 -1.33630621 -1.41421356]]
X_test_Satndard:
[[ 1.87082869 0.80812204 1.3970014 -1.33630621 -3.53553391]
[ 2.67261242 -0.10101525 -0.50800051 -2.13808994 -7.77817459]
[ 0.26726124 -1.31319831 -0.88900089 0.26726124 2.82842712]]

EEMEN R ENIREE:

X_mu = X_train_Satndard.mean(axis=0)

X_sigma = X_train_Satndard.std(axis=0)

printC'X_mu:\n", X_mu)

print('X_sigma:\n', X_sigma)

X_mu:
[-2.22044605e-16 7.40148683e-17 7.40148683e-17 1.48029737e-16
-5.92118946e-16]

X_sigma:

[1. 1. 1. 1. 1.]



MinMaxScaler
T = min (2)

RYE Eq. 2 BHRFEES N [0,1] A

scaler = preprocessing.MinMaxScaler().fit(X_train)

X_train_MinMax = scaler.transform(X_train)

X_test_MinMax = scaler.transform(X_test)

print('X_train_MinMax:\n', X_train_MinMax)

print('X_test_MinMax:\n', X_test_MinMax)

X_train_MinMax:

[[0.66666667 O. 0.16666667 0.66666667 1. ]

[0. 0.625 0. 1. 1. ]

[1. 1. 1. 0. Q. 11
X_test_MinMax:

[[ 1.33333333 0.875 1. 0. -1. ]

[ 1.66666667 0.5 0.16666667 -0.33333333 -3. ]

[ 0.66666667 0. 0. 0.66666667 2. 11

EERENENRXENR/IVE:

X_max = X_train_MinMax.max(axis=0)

X_min = X_train_MinMax.minCaxis=0)

print('X_max:\n"', X_max)

print('X_min:\n', X_min)

X_max:
[1. 1. 1. 1. 1.]
X_min:

[0. 0. 0. 0. 0.]
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